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B. SC. (HONOURS) BIOCHEMISTRY  

(BSCBCH) 

Term-End Examination 

June, 2022 

BBCCT-115 : HUMAN PHYSIOLOGY 

Time : 3 Hours     Maximum Marks : 70 

Note : Question No. 1 is compulsory. Attempt any 

five questions from Q. No. 2 to Q. No. 8. 

Draw diagram wherever necessary. 

1. (a) Define the following : 1×5=5 

 (i) Physiology 

 (ii) Body fluids 

 (iii) Blood Pressure 

 (iv) Hematocrit 

 (v) Respiration 

(b) Identify the location of the following : 

1×5=5 

 (i) Kupffer cells 

 (ii) Podocyte 

 (iii) Microvilli 

 (iv) Glial cells 

 (v) Melatonin 
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2. (a) What is homeostasis ? Explain its 

regulatory mechanism. 6 

(b) Describe the composition and functions of 

blood.  6 

3. Explain the structure and functions of any two 

of the following organs : 2×6=12 

(i) Kidney 

(ii) Lungs 

(iii) Liver 

(iv) Stomach 

4. (a) Discuss the roles of heart chambers. 6 

(b) Differentiate between the following : 3×2=6 

 (i) Arteries and Veins 

 (ii) Cardiac muscle and Smooth muscle 

 (iii) Spermatogenesis and Oogenesis 

5. (a) Describe the peripheral nervous system. 6 

(b) Enlist the functions of the  

following : 3×2=6 

 (i) Blood Clotting Factors (any three) 

 (ii) Blood-brain barrier 

 (iii) Antidiuretic Hormone (ADH) 
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6. Write short notes on the following : 3×4=12 

(i) Reproductive cycle 

(ii) Neurotransmitters 

(iii) Sensory receptors 

7. (a) Explain the structure of neuron with the 

help of a labelled diagram. 6 

(b) State the cause and symptom of any three 

of the following diseases : 3×2=6 

 (i) Atherosclerosis 

 (ii) Chronic Bronchitis 

 (iii) Glomerulonephritis 

 (iv) Jaundice 

 (v) Alzheimer’s disease 

8. Describe muscle contraction with the help of a 

neatly drawn diagram. 12 
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